
 
Pay Dock 
Example K 
 
 
Cred Comp - $150 
 
 
 
 
 
 
 
 
 

Termination mid pay-period.  Semi-Monthly Salary is $1500, 10 day pay period:  1 day 
worked   

 
1. Calculate the amount of Regular Pay due the employee. 
 

a. $1500 divided by 10 working days = $150 per day 
b. Key $150 on HUA03 as a Regular Pay override. 

 
2. In this case, Creditable Compensation does not match the Semi-Monthly Salary 

rate amount on H0BID.  The correct Creditable Compensation amount is $150 
because the employee has terminated employment mid pay-period.  The H0BID 
reflects the Semi-Monthly Salary Rate of $1500. 

 
3. Retirement (012 or 127, 116, 117), Retiree Credit (105, 115), or Buyback (017, 

043) deduction overrides are not necessary because all of the Creditable 
Compensation is accounted for (the puzzle to the left is complete).  This item 
will not show on Report 869. 

REG PAY 
$150 


